
Answer on Question #75585, Physics  Mechanics  Relativity 

 
a 0.2 ball is whirled around on a 0.3 m string at a rate of 14 revolutions in 20 seconds. What is 
the angular momentum of the ball?  

 

Solution. 

𝐿 = 𝐽 · ω 

𝐽 = 𝑚 · 𝑟2 

𝜔 = 2 · 𝜋 · 𝑓 

𝑓 =
14 revolutions 

20 seconds
= 0.7 𝑠−1  

𝜔 = 2 · 3.14 · 0.7 = 4.396 

𝐿 = 𝑚 · 𝑟2 · 𝜔 = 0.2 · 0.32 · 4.396 = 0.079 
𝑘𝑔 · 𝑚2

𝑠
 

Answer:  𝐿 = 0.079 
𝑘𝑔·𝑚2

𝑠
 

Answer provided by https://www.AssignmentExpert.com 

https://www.assignmentexpert.com/

